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A7 vy 7 (fi T H HiE) B 0 A=1/2% (A1+A2) *H

D>, S FEER | THEHER kG AR b PEbrE #%ﬁ%

H (m) Al (m) A2 (m) A (o) AN (%) AFt (%)

A -1 1.000 - - - -

A -2 1. 000 - - - -
A - 3 1. 000 4.800 = 5.550 5.18 5.2
A - 4 0. 00 0.0
A - 5 0. 00 0.0
A - 6 0. 00 0.0
A - T 0. 00 0.0
A7 vy s (i HHE) &5 5.2




| B Fik=a &t 1 = AN N E & Ft
IEAKHR 300%7
ABT7 1y 7 BEGEED m 1. 00 1. 00
N=TA HMEED t=bcm S RERE LY m 103. 55

103. 55%0. 05 ’ 5.2




faE L (GH2TE EaE)
ARl TS Givke2 it 1 = HAfTL NF S
ar s J—h 18-5-40 K7y 7 HEITIRELES R
A A
ATy 2.71 + 4,57 m’ 7.3
B7w 2.21 + 4,57 m’ 6.8
m’ 14.1




fjan 1. (5527 ELEE)

ARl B Gk &t Y NE 5
ar s J—h 18-5-40
A7 vy 7 T A-1 WL : 1/2%1. 000%2. 000 .00
W2 @ 1/2%1. 000%2. 000 .00
1/3%1. 00%1. 000+1/2% (1. 00+1. 00) *0. 800 1.13
A-2 WL : 1/2%0. 500%1. 000 .25
Wrimi2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25)*1. 000 0.79
A-3 WL : 1/2%0. 500%1. 000 .25
W2 © 1/2% (1. 500+1. 000) *1. 000 .25
1/3%0. 25%0. 500+1/2% (0. 25+1. 25)*1. 000 0.79
A4 Wil -
W2
A-5 Wil -
W2

A7 |y 7 A




fjan 1. (5527 ELEE)

ARl B Gk &t Y NE 5
ar s J—h 18-5-40
B7w v 7 Tl B-1 WL : 1/2%1. 000%2. 000 = 1. 00
W2 @ 1/2%1. 000%2. 000 1.00
1/3%1. 00%1. 000+1/2% (1. 00+1. 00) *0. 800 1.13
B-2 WL : 1/2%0. 500%1. 000 0.25
W2 : 1/2% (1. 000+0. 500) *1. 000 0.75
1/3%0. 25%0. 500+1/2% (0. 25+0. 75) *1. 000 0. 54
B-3 WL : 1/2%0. 500%1. 000 0.25
W2 : 1/2% (1. 000+0. 500) *1. 000 0.75
1/3%0. 25%0. 500+1/2% (0. 25+0. 75) *1. 000 0. 54
B-4 Wil -
W2
B-5 Wil -
W2
B-6 Wil -
W2
B-7 Wil -
W2
B-8 Wil -
W2

B7 vy 7 T




fjan 1. (5527 ELEE)

ARl B Gk &t Y 3 5
ar s J—h 18-5-40
A7 w2 Byl A-2 WL : 1/2%0. 850%1. 000 =
W2 @ 1/2%0. 850%1. 000 =
1/3%0. 43%0. 500+1/2% (0. 43+0. 43) *8. 300 3. 64
A-3 WL : 1/2%0. 850%1. 000 =
Wriii2 © 1/2% (1. 700+0. 850) *1. 000 =
1/3%0. 43%0. 500+1/2% (0. 43+1. 28) *1. 000 0.93
A4 Wil -
W2
A-5 Wil -
W2

A7\ 7 LA




fjan 1. (5527 ELEE)

AmooB B Flik= #t =1 = BANT NF & F
a7 J—F 18-5-40
BV w w7 byl B-2 Wil : 1/2%0. 850%1. 000 = 0.43 p*
W2 : 1/2%0. 850%1. 000 = 0.43
1/3%0. 43%0. 500+1/2% (0. 43+0. 43) %8. 300 m’ 3.64
B-3 WrmE L 1/2%0. 850%1. 000 = 0.43 ?
WrEm2 © 1/2% (1. 700+0. 850) *1. 000 = 1.28
1/3%0. 43%0. 500+1/2% (0. 43+1. 28) *1. 000 m’ 0.93

B-4 WL = m°
W2 - = m’

3

m
B-5 WL = m°
W2 - = m’

3

m
B-6 WL = m°
Wrim2 = m’

3

m
B-7 WL = m°
Wrim2 = m’

3

m
B-8 WL = m°
Wrim2 = m’

3

m

B7 oy Ml &FH o 4.57




fjan 1. (5527 ELEE)

ARl Hi H it 5
LT e /NS R) &7 a7 HEITRELUBFES R
A A
= 3.56 + 1.71 5.3
A= 3.06 + 1.28 4.3




fjan 1. (5527 ELEE)

ARl TS k=2 i Y = HAfTL NF S
LT e /NS R) 1:0.59 : &kt
A7 vy 7 T A-1 [ 1/2%1. 000%2. 000%1. 059 m’ 1.06
A-2  1/2%(1.500+1. 000)*1. 000 m’ 1.25
A-3  1/2%(1.500+1. 000)*1. 000 m’ 1.25
A-4 m’
A-5 m’
A7 a7 Pl &F o 3.56
1:0.59 : #lkt
B7 vy 7 TRl B-1  1/2%1.000%2. 000%1. 059 m’ 1.06
B-2 1/2%(1.500+1.000)*1. 000 m’ 1.25
B-3 |1/2%(1.000+0. 500)*1. 000 m’ 0.75
B-4 m’
B-5 m’
B-6 m’
B-7 m’
B-8 m’
B7 w7 il &d n? 3.06




fjan 1. (5527 ELEE)

il B R G B X HLAT NE & 2
LT e /NI TE )
A7 vy 7 ERA A-2 1/2%0. 850%1. 000 n? 0. 43
A-3  1/2%(1.700+0. 850)*1. 000 m’ 1.28
A-4 2
A-b5 2
A7 a7 Pl &E 0 o 1.71

B v v LMl B-2

B-3 |1/2%(1.700+0. 850)*1. 000 m’ 1.28
B-4 2
B-5 2
B-6 2
B-7 2
B-8 2

B7 w7 Tl AEt n’ 1.28




% T

AR B ivkza &t L 2y HAfT N E & EF
Rk T
i) v T 3.7+0. 2 n? 3.9
R PARE ¢ 600 m 45.0
s P PR ¢ 300 m 45.0

=T —

T8 H=8. Om =
A —T v | EI=T V=Y

m 140

FI1EEEIF M

® 600

Rk TD S5 A=3. Tm2 {

N\t

RHEKE
®300

\ /

T 5% A=0.2m2




